ERRATUM

Dans 1’article Innocent C. et al., Bull. Soc. géol. Fr., 2005, t 176 n°3, pp. 249-255,
a la page 252 :

Au lieu de :
O ozg = (1 = €20 - Y/ BHUABU) + (1 - 1/ PHULBU)) . (Ao / Razg — Aaza)) - (1 — € “Paso Psg)
Il faut lire :
0 o35 = (1 — €20 ) + (BHUPBU) = 1) . Aazo/ Razg — Aaza)) « (1 — € ~Paso =Rz )
ET
Au lieu de :
0 o3g = (1 = €20 Y 7 CHULBU) + (PHUABU) = 1) . (Aaso / Mazo—Aazg)) - (1= € " Paso hasa) Y
I1 faut lire :

O30 = (1 —€ P30 1) / (BAUABU) + (1 - 1/ (BHULBU)) . (Mazg! Moo —Aasa)) - (1 — € Pazgrazg) b



